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1. INTRODUCTION
In RAN2#123 meeting, whether SL LBT failure will trigger resource (re)selection for MCSt was discussed, and no conclusion was drawn:
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· Will revisit next meeting




In this paper, we discuss possible solutions for resource (re)selection for MCSt regarding LBT.
2. DISCUSSION
According to RAN1 progress and LS sent from RAN1 (R1- 2308664), it is likely that 2 approaches will be used for resource selection in MCSt resources:
	Approach 1: “best effort for multiple TBs”
· Step 1: Higher layer triggers L1 resource selection for one TB with one set of parameters (, remaining PDB,  and ) - R16/17 behavior.
· Step 2: L1 report a set of candidate single-slot resource (SA) according to existing L1 resource allocation procedure - R16/17 behavior.
· Step 3: Higher layer selects a set of resources either randomly (R16/17 behavior) or according to a consecutive-slots criterion (new behavior) to achieve MCSt.
· Step 4: Repeat Step 1-3 for different TB if required. 

Approach 2: “guarantee MCSt for single TB and best effort for multiple TBs”
· Step 1: Higher layer triggers L1 resource selection for one TB with one set of parameters (, remaining PDB,  and ) + “number of slots for MCSt” which could be derived based on CAPC of the logical channel/TB or other means.
· Step 2: L1 report a set of candidate multi-slot resource (SA) according to most of the existing L1 resource allocation procedure (FFS: RSRP calculation / threshold may need to change)
· Step 3: Higher layer selects a candidate multi-slot resource either randomly (R16/17 behavior) or according to a consecutive-slots criterion (new behavior).
· Step 4: Repeat Step 1-3 for different TB if required. 



Based on either approach 1 or 2, the UE selects a set of consecutive resource for a single TB, while being best-effort for multi-TB. With this mechanism, we can first focus on discussing how/whether to trigger resource selection for consecutive resources that transmits a single TB.
Observation 1:  A single resource selection procedure for MCSt is mainly for a single TB transmission. 

For MCSt, the UE performs SL transmissions via consecutive resources (for one TB or for multiple TBs, based on final design from RAN1). One difference between MCSt and other SL transmissions with multiple transmission opportunities could be that MCSt resources contains concatenate resources bundled with each other in time domain. If the UE is to perform resource (re)selection in response to a LBT failure indication of a transmission in the middle of MCSt (e.g. transmissions except the last one), the UE cannot obtain a resource that is closer than what the UE already has. The UE can immediately perform (re)transmission using the next consecutive resource (if the MCSt is for multiple transmissions for one single TB), and the resource reselected may not be beneficial. 
Observation 2:  If the UE performs resource selection triggered for LBT failure in the middle of MCSt for one TB, the UE will select resources later than the rest of consecutive MCSt resources. 

In addition, one of the main purposes of the MCSt is to reduce number of type-1 channel access. For the first/initial transmission, if the UE is not performing MCSt in a shared COT, the UE performs type-1 channel access procedure to obtain channel access; if the UE is performing MCSt in a shared COT, the UE perform type-2 channel access procedure for the first/initial transmission. For successive transmissions, if the gap between the transmission and the previous transmission that occupied the channel is smaller than a threshold (e.g., smaller than 16us), the UE does not perform channel access procedure; otherwise, the UE performs type-2 channel access procedure. If resource (re)selection is performed for each LBT failure for the MCSt transmission opportunities, the UE may need to perform type-1 channel access for each of the newly selected resources that is separated from the original MCSt.
Observation 3:  If the UE performs resource selection triggered for each LBT failure in the MCSt for one TB, the UE will have to perform type-1 channel access for each resources that are separately reselected.

For the cases where the UE does not perform channel access, there’s no need to decide whether to perform resource (re)selection or not. For the cases where a channel access is needed, based on above observations, several options can be considered in order to maintain the advantage of the MCSt. One option would be that the UE does not perform resource (re)selection for MCSt for all LBT failure indications. Another option would be that the UE performs resource (re)selection when the last transmission opportunity for one TB in the MCSt is not performed due to LBT failure. In this case, the UE can reselect a resource after all the MCSt resources are used and the UE can perform retransmission of the one TB using a reselected resource if LBT failure occurs and no MCSt resources are available for retransmission. To further optimize the option, the UE can perform resource reselection for LBT failure indication of the last transmission of MCSt if PSSCH (re)transmissions of all transmission opportunities of the MCSt are not transmitted successfully due to LBT failure. 
Based on previous meeting discussion, there are some support for single TB case that the UE triggers resource re-selection in case all the initial transmission and re-transmissions within the MCSt were not performed due to LBT failure. With the current resource selection procedure for a MCSt resource being used for a single TB, we think this would be a suitable solution.

Proposal 1: For MCSt, the UE triggers resource reselection if all the transmission opportunities in the MCSt were not performed due to LBT failure.

Whether the resource re-selection is also a MCSt
In the previous meeting, a question was also raised by some companies that whether the re-selected resource is also a MCSt resource (i.e, a set of consecutive resources). In our view, while it is beneficial to also selects a set of MCSt resource for retransmission to avoid further Type-1 channel access, with the LBT failure on the previous transmission opportunities, it may imply that the channel is currently crowded and a set of consecutive resource with high quality may not be selected easily. In addition, as there are no rules on whether to select MCSt resource or normal resources for a SL data, it may be fine to leave it to UE implementation.
Proposal 2: It is up to UE implementation whether to select a set of MCSt resource for retransmission of a previous set of MCSt resource that was not performed due to LBT failure.

3. CONCLUSION
In this contribution, we have following observation and proposal:
Observation 1:  A single resource selection procedure for MCSt is mainly for a single TB transmission. 
Observation 2:  If the UE performs resource selection triggered for LBT failure in the middle of MCSt for one TB, the UE will select resources later than the rest of consecutive MCSt resources. 
Observation 3:  If the UE performs resource selection triggered for each LBT failure in the MCSt for one TB, the UE will have to perform type-1 channel access for each resources that are separately reselected.
Proposal 1: For MCSt, the UE triggers resource reselection if all the transmission opportunities in the MCSt were not performed due to LBT failure.
Proposal 2: It is up to UE implementation whether to select a set of MCSt resource for retransmission of a previous set of MCSt resource that was not performed due to LBT failure.
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